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1. —174° 2% % %2 4?2(A)- B)= (O)= (D)=

2. 25" = (A)i—:3@&(B)%3@&(C)%3@&(D)f—23@)§1

3. 1150 58 % f I % & % (A)—210°(B)—290°(C)—300°(D)—190°
4, TR ET 5 R & B #2(A) 400°% 720°(B)—70° % —440°(C)1000° % 640°
(D) —40°% 310°

5.0 A4k 0 2 sin@ =235 1—tand =?(A)§(B)_?1(C)%(D)%
6. c0os90° — sin270° = (A)0(B) — 1(C)1(D)2

7. %P3, -4)F £ 0 HF - 83

=2 ®) (OIS

8. T 7w¥ I #£2(A) cos(—0) = —cosO (B)sin(—0) = —sin® (C)sin(180° — 0) =
—sin® (D) tan(90° + 6) = cotH
9. #0 2 % - % & >} E’J«A(sme ’ cose);iai %22 (A)- (B)= (O)=(D)=

10. 2+ ¥ csc1125° =? (A)\/E(B)f((:) - 73(1))%

11. = 7@ —‘F‘fﬁf‘é—?(A)sinze + cos?0 = 1(B)1 + tan?0 = sec?0(C)1 + cot?0 = csc?0
(D)1 + sec?0 = tan?0

12. AABC ® » ¢ svAB=6>AC=10> ® £A=60" > 3> 5 AABC & # =7 (A)10V3
(B)5v2 (C)15v3 (D)8v2

13575 0=35AE P LEEr=424 3% %255 # = (A)16(B)24
(C)36 (D)8 T = 2 i

14. 3 ¥ cos45° — cos135" =? (A)V2(B) % (©) \/Z—E (D)0

15. * 7@ iﬁ ke (A) S0 _ tan® (B)(sin®) - (cscB®) =1 (C)(secO) - (cschb) =1

(D)cot® = tan(90° — 8)
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¢ arsinB 4 cosO = = 2+ 8 sinB X cosb =?

2L ¥ tan45° — cos?30° =

L 5 R
e A tan6=E » ¥ cosB <0 33 sechd =

6. 3+ % cos180° — tan0” + cot90° =

7. ¢ i 048 - 8P(-5,12) > 3+ & sinB + 2cosO =?

8.

9.
10.

2% S Bf(x) = sin (x + g) Bl \ f(z?“) =

35 csc240 =

¢ 5rcos12’ =k v @ k 4 57 sin192°
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